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du1| 25 o

o

= Hg

(et : mm)

7|24 23 & '235¢ '23.69

A g4 2ol |H[E(%) "4 2o |H[E(%)| "4 2o |H|E(%)
d = 442 1 519.1 1174 977 | 1732 | 1773 | 150.6 | 2139 | 1420

(L2 4132 | 479.6 | 1161 100.6 | 1382 | 1375 | 135.1 209.8 | 1554

oM M 398.0 | 3744 94.1 93.2 124.3 133.4 131.6 150.5 114.4

=HEsd 44477 | 5545 | 1247 945 | 1957 | 2070 | 1555 | 2255 | 1450

L 446.5 | 390.2 87.4 90.9 143.0 | 1573 | 1480 @ 1241 83.9

B st 2 526.6 | 518.1 984 | 1082 | 1914 | 1769 | 1/68 | 1386 78.4

=2 & 452.1 478.4 105.8 92.5 1964 | 2124 160.2 177.0 110.4

SENES 416.6 | 334.6 80.3 95.9 134.4 | 140.1 1384 | 1213 87.7

EdZ 471.0 | 5393 | 1145 90.5 | 2536 | 2803 | 166.0 | 1745 105.1

S 4722 | 552.6 117.0 924 | 2192 | 2373 156.7 | 222.3 141.9

dzZ 5393 | 717.0| 1330 | 1066 | 2316 | 2173 | 1912 | 300.6 157.2

=R 2, 520.7 | 6523 | 125.3 98.6 | 2004 | 2032 | 1824 | 2914 | 1598

Brxl g 6049 | 7464 | 1234 | 1247 | 2988 | 2396 | 2183 | 2022 92.6
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A al a3
A1 2| H: ug ¥ 33N
O A I (WYL 71F)
(EH9] 8 im?)
78 che Ao UM B Y4BESY CEES RS
aog\ | o | Ba | UF o | s | UE | ona | g | UF | o | ge | UE
A 5,123.2|6,357.6| 124.1{1,0120(1,0109| 99.9| 1852 210.3| 113.6/1,332.7|1,6156| 121.2
st 12,317.6/2,990.0| 129.0|1,008.6/ 1,007.3, 99.9 14.6 12| 76,5 201.6| 2336 1159
s 11,2129)1,5453| 127.4 - - - 158.8| 168.0) 105.8| 326.0| 4132 126.7
=2 [1,039.4|1216.0, 1170, - - - - - - 253.9| 310.7| 1224
GMZ | 5533| 6063 109.6 34 36| 106.2 11.8| 312 2642 5512 658.1| 1194
[l oNH, [4EUle FAY e, [3Yi2 NI, [FAUle B, 531, MY 9 BRI £ AMe B8
- oA
SR %2 e
FA | oA (84 Bbm) (%) << (/%)
T o= HE | &R | 59 yezy
(o) | ELM) | ELmM) | & A | e | m) | owm | 2=
Mez | deg
= A 12,923 6,467 50 39 379
- a~ekzb | 2703 198.0 178.1 2,900 1,625 56 42 597 100 0
;L = 3| 6648 145.0 129.8 2,750 1,380 50 36 247 300 0
= 2 A 209 180.0 172.6 87 49 56 38 260 3 15
oF = 1,584 161.7 148.3 1,248 672 54 39 553 0 0
el st | 1,361 164.7 148.8 595 266 45 34 358 0 0
o o 41.3 364.9 351.6 28 13 46 49 533 0 0
Lo g FY | 5000 | 1640 | 1567 181 113 62 | 29 | 203 | 17 | 64
; - 9 87.5 205.1 189.5 49 17 35 35 537 0 0
S| et | 820 | 1986 | 1834 54 25 46 | H 552 1 0
= Ha o 32.6 238.5 219.3 22 5 23 33 824 0 0
2 925 179.0 154.7 790 319 40 36 746 0 0
=tz 2285 46.0 37.6 309 98 32 33 155 105 0
R 954 210.2 197.1 74 51 69 55 377 0 0
= | & 930 265.5 250.0 815 385 47 43 693 16 0
Z | & | 3204 80.0 70.1 1,490 821 55 45 275 0 0
= MEZL 763 197.7 185.3 466 186 40 25 442 0 0
Zl T | 1,145 110.5 98.0 707 278 39 42 536 0 0
7| £ ot 59 43.8 41.3 50 42 84 58 258 0 2
et 2 3 163.6 75.5 62.8 117 39 33 35 507 0 0
2 = 193 82.8 70.0 191 84 44 45 797 2 0
F ) AgZY RSN HESSANK HEB2o| HYste LFTHRES 50%)
2 dFHEH2 E31UA 22 AMgEST &



59
Mgk =1 R
e Al A (4 2hm) (%) oe (m/Z)
T = o | gk | 9 g
kar e A | ~e | AHA
( (ELm) | (EL.m) et | Aazs Sx | o | (MM | aa 4z
A 444.9 211.2 48 42 554
gt g 125.0 672.0 668.3 13.1 5.8 45 59 154 0.0 0.0
z e 29.4 112.0 105.0 8.7 4.5 52 57 589 0.0 0.0
=Rl 235.0 156.8 150.9 103.2 57.6 56 36 438 0.0 0.0
oFA| 6.7 43.9 38.9 18.5 11.0 59 58 1,712 - 0.0
4 3.7 40.0 36.6 2.6 1.5 60 53 669 - 0.0
Lt == 301.3 145.0 137.6 160.3 64.3 40 44 654 0.0 0.0
- oH= 57.5 120.0 108.0 36.2 9.6 27 19 675 0.0 0.0
; Ated 67.0 60.0 49.0 30.3 8.1 27 33 778 - 0.0
< CH 2F 77.0 48.5 47.0 13.1 4.9 38 39 652 - 0.0
Mef 1.2 30.0 27.2 2.0 1.6 79 80 939 - 0.0
AxE 11.7 48.0 47.2 52 4.0 77 58 670 - 0.0
T 12.7 93.0 88.1 10.0 7.2 72 78 817 - 0.0
T 49.0 64.0 61.0 31.3 25.3 81 56 622 0.0 0.0
g 19.9 109.7 106.2 10.3 5.7 56 47 568 - 0.0

[=]
2L @AM AEFANK HeS2holl sl dets dTFEE 50%)

IR
X2t Hee At ar=at
P (8 k) (%) geet|  (m/x)
E ko] | w9 mm
€em | EeLm | = | oze | wn |
raz | mpa | BN e | @ | 7T
= A 1,550.0 1,013.9 65.4 60.0 545.6 - -
s A 175.0 163.9 9171 467.5 51.0 43.3 377.8 62.1 -
= A 102.0 101.7 139.3 120.9 86.8 82.8 33.9 191.5 83.5
S of ¢ 70.5 704 85.7 69.1 80.7 754 84.2 296.3 88.9
3 4 50.0 499 162.7 140.5 86.3 81.2 14.0 613.5 197.8
ol A 134.0 132.5 9.7 52 54.0 55.8 94 8.8 88.5
= ot - 249 230.0 206.0 89.6 92.1 15.7 702.8 | 19356
MEIZE BHAMZ 126.9 126.2 56 3.5 63.3 60.0 10.6 - 46.8




o AF FFAE(23.7¢~2399)

(2H2l : m¥/s)

2s | A 2378 '238% '239%
oA 2o | HIE(%) | old 2ol | HIE(%) | od 28 | HIE(%)
H (4 gkm) 9,100 3,474 38.2 9,761 4,752 48.7 5,269 3,173 60.2
=M 340.1 146.1 43.0 386.0 392.0 101.6 267.0 2755 103.2
sta2t ST H 35 0.8 225 1.9 0.8 39.8 2.6 0.7 27.8
- HMEH | 26583 423.1 15.9 | 2,853.1 425.3 14.9 | 1,418.9 259.5 18.3

ISERS! - 3.2 - - 3.9 - - 3.2 -

Cr=x > 163.5 86.5 56.3 160.1 2554 159.5 142.2 145.3 102.2

— 2T H 20.5 16.2 78.9 21.0 18.2 86.5 18.9 18.3 96.4
I T = - - - - - - - - -
X 4% - 98| - - 124 - - 63| -
ChESG | 1384 656 | 474 1337 | 177.9| 1331 1120| 1015 906
23t S5 - - - - - - - - -
2k e - - - - - - - - -
X = X| - 145.9 - - 227.2 - - 156.6 -
Ch=2H 52.6 56.6 107.6 58.1 47.0 80.9 50.0 422 84.3
oiatzt | BT 58 53| 911 5.4 49[ 908 4.9 50| 1021
o o 246| 205| 833| 249| 207| 831 162] 107] 660
X = X| - 317.4 - - 188.5 - - 199.4 -
« [eHd]2 ot (S22 dird-Efakd, (B2 Mud, [FA2 orE, SAIZ, MRIZ & eIz A AldE =g
- TpE A
(2 m¥s)
2 "23.7¥ '23.8¥ '23.9¥
A of 4 AZE |HE(%)]| o HZE |HE(%)] o4 HE | HE(%)
| (84 2k me) 1,833.70| 950.22 52 1,976.5012,336.37| 118 ]1,480.80|1,463.18 99
Akt 69.59 | 30.00 43 87.10 | 30.00 34 70.41 72.00 102
LA s F 266.39 | 113.57 43 294.62 | 350.00 119 192.90 | 200.00 104
g2 A 414 2.54 61 4.29 12.00 279 3.70 3.50 95
ot = 38,53 | 3277 85 4450 | 38.20 86 37.73 | 29.80 79
2 st 31.51 7.64 24 31.47 9.30 30 26.89 16.30 61
Mo 0.75 0.57 76 0.60 0.90 151 0.50 0.80 160
= 4 1.08 0.41 38 1.16 1.40 121 1.04 1.40 134
sz HHEE 1.49 0.85 57 1.34 1.70 126 1.23 1.70 138
& 0.37 0.21 56 0.37 0.40 107 0.46 0.40 86
2 A 20.16 12.00 60 24.57 14.80 60 23.77 13.40 56
= 57.01 29.24 51 53.46 | 185.60 347 48.23 79.00 164
R 2.58 2.78 108 2.61 3.10 119 2.35 2.50 106
- g ¢ 19.08 16.71 88 17.55 16.60 95 17.59 16.60 94
- oy & 114.40 | 45.71 40 111.30 | 157.70 142 90.90 81.50 90
anor | S [ 2202 | 1656 | 72 | 2483 | 1230 | 50 | 2222 | 1540 | 69
T oM 2296 | 35.05 153 27.14 | 29.10 107 2257 | 22.50 100
£ ot 1.90 1.06 56 1.83 1.30 71 1.58 1.00 63
7 Ef 2 493 3.18 65 4.85 3.60 74 3.55 3.40 96
& = 482 3.92 81 433 4.30 99 3.67 3.30 90




(2

: m¥s)

'23.7¥ '23.8¥ '23.9¢
of A Z Hlg | od A E Hlg | od A & H| &
m*) 79.989 | 59.688 75 75.864 | 63.880 84 68.369 | 62.104 9N
2 = 2698 | 0.435 16 1.403 | 0.450 32 1.934 | 0.410 21
=g 0.828 | 0.358 43 0.508 | 0.310 61 0.616 | 0.300 49
=S| 7202 | 7.656 106 7400 | 9570 129 6.860 | 8.700 127
o = 0.077 | 0.019 25 0.085 | 0.050 58 0.063 | 0.050 80
2z = 6.430 | 3.405 53 7.024 | 3.660 52 5.657 | 4.640 82
O Z AL 2.207 1.855 84 2460 | 4.000 163 2.791 1.850 66
oy g 3.834 | 2816 73 3.248 | 0.450 14 2.843 | 2.600 9N
= 0.377 | 0.178 47 0.377 | 0.190 50 0.350 | 0.170 49
™ 0.375 | 0.248 66 0.404 | 0.250 62 0.369 | 0.240 65
MR o 5275 | 4.968 94 4911 4.550 93 4416 | 4.580 104
RN = 0.562 | 0.347 62 0.505 | 0.370 73 0.479 | 0.420 88
(2H2l © m¥/s)
2374 '23.88 '23.9¥
of d° A= | HE%) | o4 A= | HE%) | ol AHZE | HE(%)
7,1859 | 1,188.1 16.5 | 7,708.4 | 1,194.6 155 | 3,719.8 700.4 18.8
=S| 1125 22.2 19.7 182.4 22.2 12.2 79.5 22.2 279
=3 200.5 26.0 13.0 264.7 329 124 107.8 18.0 16.7
o| et 316.0 544 17.2 425.7 61.7 14.5 188.6 40.6 215
g 532.7 76.6 144 565.7 78.1 13.8 262.7 375 14.3
| o 46.6 7.3 15.7 38.2 59 154 24.2 1.5 6.2
o 1,450.0 236.6 16.3 | 1,376.4 224.5 16.3 756.1 139.7 18.5
2MHU 246 0.5 83.3 24.9 20.7 83.1 16.2 10.7 66.0
UM EY & YRI(UMURT+TEZ YR MHKE



- FY9E AFA(H B AASIE IS g AA)

(et

2 2374 '23.88 '23.9¢
B of & A=l (HIE(%)| o4 A=l H[E(%) o4 7| 2|
Al (44 2km?) - 1286.3 - - 1164.3 - - 953.6
7H 2 - 0.052 - - 0.043 - - 0.112
=& - 0.031 - - 0.022 - - 0.056
=AL - 0.000 - - 0.000 - - 0.000
o = - 0.000 - - 0.000 - - 0.000
g - 0.027 - - 0.027 - - 0.067
A - 0.279 - - 0.279 - - 0.242
[LeAs S - 0.282 - - 0.319 - - 0.282
=3 - 0.652 - - 0.577 - - 0.427
& - 1.109 - - 1.587 - - 0.915
=k - 0.040 - - 0.086 - - 0.168
2 - 0.035 - - 0.049 - - 0.101
>4 - 0.711 - - 0.823 - - 0.487
Eu - 0.030 - - 0.064 - - 0.336
ot - 0.000 - - 0.000 - - 0.000
=8 - 0.000 - - 0.000 - - 0.000
etd ™ 71E - 0.000 - - 0.000 - - 0.000
ol - 0.000 - - 0.000 - - 0.000
o= - 0.000 - - 0.000 - - 0.000
7t - 1.230 - - 1.836 - - 0.723
Ita - 0.016 - - 0.016 - - 0.016
zg - 0.007 - - 0.161 - - 0.161
A - 0.023 - - 0.261 - - 0.261
T (2 - 0.021 - - 0.021 - - 0.021
=21 - 0.074 - - 0.074 - - 0.074
=532 - 0.016 - - 0.016 - - 0.016
= - 0.050 - - 0.050 - - 0.050
5= - 0.055 - - 0.048 - - 0.048
=™ - 0.018 - - 0.018 - - 0.018
gr2 - 0.021 - - 0.021 - - 0.021
=3t - 0.047 - - 0.047 - - 0.047
27t - 0.044 - - 0.037 - - 0.037
A&t - 1.410 - - 2.322 - - 0.809
M et - 0.769 - - 0.435 - - 0.527
=3t - 0.922 - - 1.196 - - 0.544
s SE - 0.021 - - 0.021 - - 0.021
2E} - 0.012 - - 0.007 - - 0.007
ZA - 0.489 - - 0.827 - - 0.326
=24 - 0.031 - - 0.027 - - 0.027
= - 0.041 - - 0.041 - - 0.041
2 - 0.024 - - 0.024 - - 0.024
2 - 0.453 - - 0.624 - - 0.223
=9 - 2.278 - - 2.198 - - 0.838
A - 0.073 - - 0.073 - - 0.073
= - 0.439 - - 0.657 - - 0.239
x| - 0.069 - - 0.062 - - 0.062
Tl - 0.150 - - 0.336 - - 0.068
&g - 0.033 - - 0.016 - - 0.016
44 - 0.460 - - 0.460 - - 0.460
e - 0.000 - - 0.008 - - 0.008
a4 - 0.500 - - 0.500 - - 0.500
7t4 - 0.000 - - 0.000 - - 0.000




2 2374 2388 23.9¢
of A HAZE |H2(%)| od HE " Z2(%)| od HZE | H2(%)

Fef - 0.000 - - 0.000 - - 0.000 -

HE 0.000 0.000 0.000
2 - 0.033 - - 0.000 - - 0.000 -
A - 0.708 - - 0.889 - - 0.535 -

o = 0.880 0.530 0.487
x| A (2keh) - 0.510 - - 0915 - - 0.548 -
=5 - 0.478 - - 0.635 - - 0.398 -
Algkel - 0.182 - - 0.150 - - 0.148 -
stz - 0.335 - - 0.415 - - 0.230 -
1= - 0.478 - - 0.445 - - 0.265 -
ME - 0.257 - - 0.284 - - 0.202 -
== - 0.428 - - 0.381 - - 0.327 -
Akt - 0.134 - - 0.262 - - 0.124 -
AbRE - 0.373 - - 0.170 - - 0.133 -
=2 - 0.639 - - 0.545 - - 0.608 -
A - 1.488 - - 1.222 - - 0.668 -
H| Z - 1552 - - 2.020 - - 1.632 -
CI= - 0.348 - - 0.611 - - 0.485 -
25 - 0.847 - - 0.601 - - 0.285 -
by = - 5.106 - - 5.265 - - 1.988 -
— 2l =t - 2.011 - - 1576 - - 0.803 -
- W= - 0.162 - - 0.012 - - 0.019 -
oS - 6.240 - - 6.627 - - 3.342 -
ol - 0.331 - - 0.535 - - 0.284 -
SHA| - 0.301 - - 0.292 - - 0.204 -
20 - 0.431 - - 0.854 - - 0.702 -
& - 1.234 - - 1.556 - - 0.958 -
2ot - 0.444 - - 0.582 - - 0.208 -
=5 - 0.189 - - 0.294 - - 0.312 -
X ot - 0.161 - - 0.220 - - 0.110 -
5hx - 0.172 - - 0.222 - - 0.208 -
HEAL - 0.472 - - 0.640 - - 0.588 -
= - 0.160 - - 0213 - - 0.123 -
EFA - 6.771 - - 9.306 - - 7.395 -
HE - 0.422 - - 0.503 - - 0.488 -
=l - 0.475 - - 0.579 - - 0.546 -
o8 - 0.371 - - 0.496 - - 0.386 -
=8 - 0.726 ~ - 1.128 - - 0.902 -
22U E - 35.557 - - 97.496 - - 59.086 -
=22 - 0.180 - - 0.184 - - 0.234 -
Alch - 0.176 - - 0.240 - - 0.326 -
of B ) - 9.840 - - 16.722 ~ ~ 12,661 ~
2g - 0.867 - - 1.548 - - 1.468 -
AT S — 60.199 - - 66.856 - - 54.802 -
= - 1.082 - - 0.503 - - 0.240 -
ks - 1.928 - - 2333 - - 0.806 -
=x - 0.265 - - 0.345 - - 0.369 -
ME - 0.776 ~ - 1210 - - 0.967 -
f 5 x| - 8.292 - - 10.194 - - 10.434 -
2k - 0.863 - - 1.497 - - 1.623 -
=R - 0.985 - - 2.097 - - 1.246 -
Lp3 - 2.351 - - 4.076 - - 2.810 -
£fok - 1.170 - - 2.029 - - 1.399 -
s - 2.151 - - 3.277 - - 1.948 -




2 2374 '23.88 '23.9¢
of A A=l BIE(%)| od A=l |H[E(%) o4 A=l | HIE(%)

s - 0.624 - - 0.744 - - 0.442 -
o - 0.584 - - 1.033 - - 0.614 -
o= - 0.063 - - 0.106 - - 0.074 -
e - 0.457 - - 0.605 - - 0.360 -
2% - 0.129 - - 0.489 - - 0.409 -
A - 0.108 - - 0.339 - - 0.196 -
o - 2.770 - - 4.802 - - 3.311 -
Ex| - 0.621 - - 1.114 - - 0.644 -
25 - 0.696 - - 1.171 - - 0.824 -
GLts - 85.940 - - 91.660 - - 92.920 -
Yt - 138.810 - - 25.080 - - 45.100 -
=2= - 29.670 - - 8.710 - - 9.680 -
T - 0.264 - - 0.799 - - 0.577 -
=3 - 0.608 - - 0.327 - - 0.293 -
= - 0.694 - - 0.758 - - 0.446 -
=T - 1.714 - - 1.786 - - 1.110 -
Mz & - 0.310 - - 0.338 - - 0.200 -
2= - 0.315 - - 0.539 - - 0.320 -
= - 1.116 - - 0.599 - - 0.535 -
e - 1.104 - - 0.602 - - 0.539 -
2= - 0.559 - - 0.824 - - 0.512 -
=3t - 4.244 - - 2.449 - - 2.229 -
Sat - 5.233 - - 5.364 - - 3.339 -
T0| - 3.924 - - 2.246 - - 2.044 -
S Ry =7 - 3.398 - - 2.016 - - 1.855 -
43 - 7.144 - - 3.429 - - 4.859 -
o ot - 8.953 - - 5.843 - - 5.226 -
T3 - 0.711 - - 0.382 - - 0.342 -
S =4 - 1.319 - - 0.709 - - 0.635 -
&4 - 2.596 - - 1.927 - - 1.724 -




A1 3| 9% g ¥ MY
o F%F FF(86¥ 71F)
(et2l - m¥Y=
o 712t 234 = 2354 2364
B aogma ol | 2s |HIBCH| ofd | 2sh [HIBCH| old | 28 | HIBC
3 (28, detzdm) 131.7) 117.7| 893 1006| 1382 1375 135.1| 2098 155.4
ctobF (=&, motim) | 2428| 3277 1349 932 1243| 1334| 1316 1505 1144
2 F (M2, "y m) 11.9| 10.1] 853 134, 145 108.1| 158 17.1 108
jj 0 F(do|d, e5m) 46 33| 724 55 41 761 6.3 53| 835
XM (zxz, 22n) 82| 102 1238 108 143 1322 10.1| 184 1813
T (72 bl S0 @) 638 455 713 993| 929/ 935/ 1168 817 699
LEl(ohM A, FEMm) 4.1 31| 765 5.7 39| 696 6.0 46| 763
o e AED) 979| 59.1| 604 524 717 1369 718 1172 1632
FolEs, gdm 853| 673 788 287 866| 3022 87| 1465| 1685
L | B, s2ema) 98.1| 818/ 834 139.9| 1085 776| 1189 1747| 147
% DHER 281 130.8| 112.1"| 857" 2029| 1815 895 169.1| 258.9" 153.1"
& Mg dzm) 1431 1257 87.8| 117.1| 2163 1847| 2202| 2767| 1257
gtokms, Al 2084 1938 93| 169.8] 367.5| 2164 4495 3876 862
Uokmg, Aztam) 242 2713| 1121 1136| 4965 4372 6195 4868 786
SHER, olgdm) 249 328| 1317| 274 660 2406 245 608 247.8
SF &R 32D 732| 587 801 905/ 978 1080 1152 883 766
2 |FolEs, WMD) 876| 795 90.8| 1107| 1379 1246| 1324| 1153 870
& gm@s, a7 122 145 1184 120/ 290| 2413| 136 205 150.6
MZBAl(plsH, 2ttm) 209| 217| 1038 274 341 1243 272/ 368 135.1
OfMAl(Zm A, shfctal) 4.4 38| 856 41 45| 109.9 52 59| 1132
%4 LFEs 321 14.1]  207| 1466 154 239 1552| 230| 657 2852
7j L (=5, dFgm) 32.1)  483| 150.1| 352| 634 1798 527 1250 2369
u TME=s 220 11.6| 21.1] 1815 121| 262 2165 179 670 3740
73 TMES, oD 183| 300 1635 20.1| 366 1822 275 1006 364.6
¢ Fel=s, axa) 308/ 402| 1304 338 526| 1555 414 119.8| 2888
F 1) 6.10¢ ol SAEo X2 L7 HIE Qo HAY FY YY(XE E& F




(23.7€~"23.99)

i m¥xE)
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W 20 20 | 20| %0 20| 20| <0 20 | <0 20| 20 | <0 20 20| 20| <0 20| 20| 20| 20
ol | &o K0 K0 K0 K0 K0 K0 K0 K0 K0 K0 K0 K0 K0 K0 K0 K0 K0 K0 K0
Pl
0 < © | v D S| 9| | M S|l Q|9 2 © 9 @ N Q| v | ¥
® | 2| o al | © | o N| | © ol | o S|lo| = 0| w| | w o ~ S| N | ©
N ™ ™|~ | = — | © | — < | = Ol N| 0| ©| — | < ® ~N | S| o | O
O_H — — (q\] ™) <t Lo — —
20
s
= |l <0 0] %0 <0 0] 30| <0 0 | <0 020 %0 %000 0] 0| 0 [0 0| <0
ol K0 K0 K0 K0 K0 K0 K0 K0 K0 K0 K0 K0 &0 &0 K0 &0 &0 &0 &0 K0
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